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) For the curve y= ¥ and the
poin $ P(s, 3)
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b) The S‘°pe appeors o be 0.16¢ 4
€) '5' 3 =+ (X -5 ) hence Y= _1, X *




averaqe veloci-l-g between

Jd ++h seconds i3

5% (4+h) - 0.83 (t+h)t — (58t - 0.83+°

@) Hece t:=), so the aversqt
68 - 1.66 —0.83h= 56.34 -0.834
) For [1,2] , h=1 V=555t m/s
i) For L4181, he0§ ,Vyyq = 59 925 m/s
35-5) For L i, . 1] . s O. 1 s Voves 8¢. 7—5?‘“" |
w) Bor [1,101], W:e0.01, Vo = §¢.3313 m/s.
() Fer 1, 10017 , he0.001, Vaue = 56.33313 A

Tl\t inston Foneous velocity aptec { secer
6.3 m/s.




8) Averaqe velocity between }imes ¢=1

and tzitth i3 quen by s{t+h) - s(2)

h

a) i) h=3 BV, = 8- sty | 138-3 o 489

§-1 3 #Ys

;') h=1 =) Vove = ﬁ - S:o - 1'%-3’- (..3?{—”3

i) hzl D Veye = S-S ’l‘: 38 4tls.
31-1 i

b) Using the points (0.3,0) J (S, ﬂ') 4 comn Ha
approximate Jongent line, the instan toneous

veleily ot #=1 s obout _U8-0 ., 2% 4t/s.
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